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Let x=# pairs of downhill skis
      y=# pairs of X-country skis

P=40x+30y
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# pairs of downhill skis

(0,0)    ( 18,0)    (0,24)    (6,18)

Vertices
Objective Function

P=40x+30y

(0,0) 

( 18,0) 

(0,24)  

 (6,18)

P=40(0)+30(0)=0

P=40(18)+30(0)=720

P=40(0)+30(24)=720

P=40(6)+30(18)=780

You should manufacture 6 pair of 
downhill skis and 18 pair of X-country 
skis to get a maximum profit of $780



September 15, 2017

Let x=# small vans
      y=# large vans

P=7x+15y
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(0,0)    (5,0)     (0,5)     (2,4)

   (2,4)

(0,0) 

   (5,0) 

    (0,5)  

Vertices P=7x+15y
Objective Function

P=7(0)+15(0)=0

P=7(5)+15(0)=35

P=7(0)+15(5)=75

P=7(2)+15(4)=74

They should purchase 0 small vans and 5 
large vans for a maximaum passenger 
load of 75.


